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Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.

Cutting or filling two or more circles will result in zero mark in that question.

For all ecosystems the basic source of energy is :
Fire J7 (D) sun & (C)

:c‘_,gjjgjlgtb’&jié_if""’,fgrp

Water d& (B) Plants &y (A)

Asexual reproduction in yeast take place by :

Multiple fission ¢/*L} & (B)

Budding £% (D)

Le On 2k B 5E a2

Spore formation u%tiu;" (A)
Binary fission ¢/ {5/"15 (C)

Which one of the following disease is cured by vaccines :

Malaria | 2 (D) Cancer 4 (C)

et 25 L ok sk

Smallpox & (B)  AIDS il (A)

Where does the gaseous exchange occur in human :
Alveoli $Us#! (D) Bronchi (¥ (C)

e b U DK St U

Trachea _lr.l://* (B)

Pharynx (s a4 (A)

4

(&15s)

\



e L/fﬁ’é/’/é”?z )

Which are decomposers : St cj:‘/ Juj:,f $il5
Fungi and bacteria g,:té vl JL&’ (D) Algae ‘,fl (C) Animals /5 (B) Plants <« sy (A)
Which organ is responsible for filtering the blood : L Ko/ }"’ S o L-jfi' L pjr( 6
Stomach s (D) Brain f,L: ©) Kidney uf (B) Intestine f b4 (A)
Anti virus protein is : B c)f:{ e g7
Urokinase):"lb’»g (D) Thymosin cffd,h? (C) Interferons :f':;:‘/’—'f (B) Insulin ﬂr" (A)
What do some bones produce | L F Ok Y ULk £ |8
Oxygen .=zuuST (D) Blood cells A%k (C)  Hormones 44 (B)  Mucous u/ ¥ (A)
Number of pair of cranial nerves in human are - Y AP ] L 5 J‘f”“/ Ur Ubitlg
16 (D) 12 (C) 14 (B) 10 (A)
True breeding means : P 1 Fts2|10
Heterozygous uui_:.‘vi 334 (B) Homozygous uui_x.‘d v (A)
Phenotype - g5 (D) Karyotype Fby [ (©)
Root develops from : P & 5111
Radicle < (4., (D) Micropyle & Jé:gt (C) Plumule < J:.:‘:& (B) Testa — k¥ (A)
The number of pairs of homologous chromosomes in human cell are : :(fs2v¢ 2L )'fr:/‘:/;‘r‘mﬂdf JLJI 12
23 (D) 24 (C) 25 (B) 26 (A)
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( PART-1 Ji =)
10 2. Write short answers to any Five (5) questions : ol A7 4 /3 L =y (5) ég = Jf -2

(i) What are the effects of smoking on teeth? N A O v 4 UFD L _5':": (i)
(i) How sound is produced in voice box? T an l4 :;( T ‘/( s (i)
(iii) What is the function of hairs and mucous in the nose? U LS (b’ I_.:" g/z‘ 231 dl, i S S (iii)
(iv) What are the causes of stone formation in kidney? W4 i_.f =2 J c‘_ d/;; U s (iv)
(v) Define homeostasis. Give an example. -2 Je ...gl 2 2.: ...g,;" J J""-"'z‘n (v)

(vi) What are meninges? Write down their functions. -é ;/’ Juir & ot S 2_' 4 B (Vi)
(vii) Write down the function of rods and cones present in -2-;(,_/}()’) Ko sl 33 sl L&-}Jf T (vii)

(viii) ﬁ’ﬁféﬂlﬁlf’éin be treated? e Foy & euvdr (i)

10 3. Write short answers to any Five (5) questions : ol o) 4 /‘# L oy (5) @g e Jf -3
(i) What two minerals are found in bones? ' Ji.w Jg =L (5 c)f (i)
(i) Differentiate between tendons and ligaments. Zk 5 A ub'ﬁ sl 2l (ii)

(iii) Define reproduction also write its importance for species. 2 a_f‘?f@'}?&gfjbsl’q{_@/‘vﬁ%; (iii)
(iv) What is micropyle? What is its use for seed? ‘< Y Je g LLE ?4";. Y Jbﬁa‘l.- (iv)
(V) What is meant by alternation of generations? ey 1," 2 DT T (V)

(vi) Differentiate between homozygous genotype and -2‘_{ g L < (1t ',1}’},:: s 7 Es2 s (Vi)
heterozygous genotype.

(vii) What is meant by co-dominance? fe oy |._)’ < J;-;."';} - (vii)
(viii) What is theory of special creation? fe l;" - }’ ¥ J:.y ¥ (viii)
10 4. Write short answers to any Five (5) questions : : d =2 /‘? L ey (5) ég F J/ -4

(i) What is meant by decomposers? Give an example. ~E2 f J& fe sly ._Lf (== }J}){dj (i)
(i) Write down four disadvantages of excessive denitriﬁcation.-é = bla) %L;Z. L-f:éd S Slic Sk (i)
(iii) What is green house effect? Write the name ..g(tﬁ Urfgfi{,w:f(?l» fe .L_f._*f-_l:"“-fgfilquf (iii)

of two important green house gases. .
(iv) Write down four uses of formic acid. Y S o T B T ()
(v) Define the term biotechnology. Also write its one benefit. 2] (ffa,fli.g -é o /‘.’.Jgﬁ:‘l.-?f L (V)
(vi) Differentiate between pharmaceutical and addictive drugs. _éﬁ)u‘:.:-j,»l #TE _;rLJG (vi)
(vii) What do you mean by narcotics? Write down its one use. -é;fdb;‘l..gdfbfuf ‘.‘c.;_:y_,l/c..u'%t (vii)

(viii) What are sulpha drugs? Write down its one use. _ﬁf Jei _Q ¥ U St g_f 7?3 sl (viii)
( PART-II (» @)
Note : Attempt any TWO questions. _a‘f o 4 L ety »e J:( Oy
4 5. (a) Explain osmoregulation and thermoregulation. -’q‘:”.vlénfu%gxf/ 2! c)%{u" 7 ()5
5 (b) Write down the name and explain -é..w Los s &.Jr' b Uy L Jiaf. c;fdb 'l ()
different components of coordinated action. . _ o
6. (a) Define arthritis and describe its types. &y e S utmzt i) J AT () -6
5 (b) Define germination of seed. -é{fﬁﬁdﬁﬂﬁé_&ﬁz _&{...g!/“"gfu’-{igfﬁ (.......)
Describe various conditions necessary for seed germination. -
4 7. (a) Give a detailed account of urbanization. RO 314 Zuye ()7
5 (b) Explain basic steps in genetic engineering. -é Wk J’f/ Sl L ..f/"..jf g )
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Note : Four possible answers A, B, C and D to each question are given. The choice which you

think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

A cluster of specialized cells which surrounds and nourishes, : 'L.t'l.l{'c.r_.t},)lﬁf_.b? h{.—ﬁ()’@%‘%ﬁ&&.—ﬁq 1 -1
each egg cell is called :
Cervix u’g/ (D) Uterus ¢ (C) Follicie ﬂ s (B) Fallopian tubes %% /A% (A)

E-Coii bacterium was created for synthesizing human growth y’gu Jﬁ-'/:«.‘:/'d!);‘:d' lei.b.u}r‘z[,x;:fdlil 2
hormone in :

1977 (D) 1670 (C) 1967 (B) 1955 (A)
The inner layer of eye is sensory and is cailed as : ) é"'./ el 57 Juﬂ S £1|3
Retina k&, (D) Choroid 55 (C) Cornea Q»f (B) Sclera ! ,;i’ (A)

The specific sequence of : {..t'ﬂz"/ ‘ rg:p/ﬂ}:ﬁﬁi’exﬂéimdu Tﬁfgﬁdﬁg{;;’e;‘gé;.ww 4

DNA nucleotides is copied in the form of messenger RNA nucleotides is known as :

Translation c)}-"'vb’ (B) Transcription Jg,@ \; (A)
Translocation o'i"g’;ffi} (D) Transduction uﬁ(jgf I/ (C)
Which of the following drug is obtained from plants : fee dlo f,,( J"b e Ungln ¢ u}f e J- |5

Cephalosporin ¢/ s % (D)  Insulin C):-JJ"';' (C) Morphine u’.'-;;l'. (B) Aspirin ¢/ 4 (A)

The World No Tobacco Day is observed every ‘Lt'lggl.?__/dlm (Q)J(}}hdﬂé&:&}"fy}) s )_C;' i X6
year on :

3stMay § 31 (B) 31st March &L 31 (A)
31st August =1 31 (D) 31stduly U2 31 (C)
The latest method of vegetative propagation is : e .‘EJ”) c,_i_’.? o ' v,......\in.;),a y.‘bj": 7
Bulbs Ly (D) Cloning K (C) Cuttings 3455 (B) Budding j:t (A)
The maintenance of internal body temperature is called : : :;.tMnﬂL(’ IS':(..-:')LF’.?;:J»_J: |¢':f)‘ 8
Osmoregulation ﬂfm‘}l (B) Homeostasis J—*P ¥ (A)
Excretion ﬁ[’g (D) Thermoregulation c)%gxr‘/; (C)
The specific combination of genes in an individual is known as : : ‘:;VMQ(;ML/";‘?K%VC:)._Q 9

Genotype ~t#¢ (D) Aliele =1 (C) Karyotype oL 4 (B) Phenotype .,‘.}Er:’ (A)

-

Which bone is part of appendicular skeleton : - Ep g g e );gi_';f Ss U o S w10
Sternum l//‘ (D) Skul d;)’( (C) Vertebral column Hﬁ)‘ﬁ'zs (B) Pectoral girdie JJ,)U;}..C-: (A)

The largest part of forebrain is called : F g Hl('( 2 NY Eoiiart B Q',{J;’ 11

Cerebellum de[ (D) Hypothalamus Jé‘f:_fl, (C) Thalamus u/.{'_‘? (B) Cerebrum ¢z« (A)

The base of food chain is always formed by : fee & < U 24 sl J & 39112
Food web %»’;’ (D) Plant (producer) 1»¢ (C) Ecosystem I/)_-/ng (B) Animal u?lg (A)
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( PART-1 3 »)
10 2. Write short answers to any Five (5) questions : : ég AN 4 /:?Lawr (5) ég = Jf -2
() What is the difference between breathing and cellular respiration? ".a‘:.u-/‘l_,;’/uf tJ? ,(-'-;/:.‘.’ 2! J': (i)
(i) What is pneumonia? Wirite its symptoms. -Z: _//7 =k J Ve l_._-‘/yy" (ii)
(i)} What is meant by lung cancer? Write its two causes. -’&"'fa{,:‘fmd/u‘! ‘."L:i/gc./"'-‘-'z.u:zt’; (iii)
(iv) What is called guttation? St i < u-h'if (iv)
(V) What is meant by lithotripsy? ‘el e A ()
(Vi) What are two important functions of spinal cord? Y rE (il L8 S jl._,- (vi)
(vii) Differentiate between myopia and hypermetropia. ﬁé ,{/- O A ‘L;,:/'f;'{, s sl L (vii)
(viil) What is paralysis? Write down its causes. -3?; .(f. =2 J J e y’ éb‘ (viii)
10 3. Write short answers to any Five (5) questions : : o8 (R4 /5Z..=Allr (5) 5& F. Jf -3
(i) Differentiate between movement and locomotion. ?:‘_ (3/’ gf o d&d‘-’ »l =S )]
(i) What is skeleton? Write one merit. _é ”/f“ 046 LI S sl V < ealasCa (i)
(ii)Explain parthenogenesis with example. -@d eoloy « Ji d/ J""’E"’JL (iii)
(iv) Write down procedure of tissue culture. & ¥ A1 /{ ;} (iv)
(v) Differentiate between two methods of pollination. _é‘ Wk 3 A Ut L ﬁd{ (v)

(Vi) Differentiate between transiation and transcription. -5 En5) o ﬁpﬁ} 2 bl 5 (vi)
(Vi) What is difference between homozygous and heterozygous? S J/’qut‘.' “lis fa sl J-Cl):‘x Vii
: Y 2

(viii) Write two important processes for organic evolution. -é ;}’ N# (0 L 6 J_l{t (viii)
10 4. Write short answers to any FIVE (5) questions : : 2.:—;[2/35.:.0!:* (5) &g . Jf 4
(i) Define ecosystem. _’é ..g/‘.’. J (L'/;g! (i)
(i) What is deforestation? Give its two effects. -éu'lﬁ._w!?lmﬁul ?.:"..lf(c)éﬁﬁdi)gjlffgfalﬁ? (ii)
(i) What are pollutants? Give two examples. ey g_)':[f'f-ﬂ nd o Ut BT L ‘fq";é (iii)
(iv) How cheese is formed? fe & d: (Cheese) Z L & (iv)

(v) How human growth hormone was obtained ?Qt@gfbd_,un[‘jsfg}u!%a.f%h@f (v)

before genetic engineering?

(vi) How terramycin developed? ?o’f Jl-,. d__/ el Ve (vi)
(Vi) How sedatives work? St &S ¥ & xde (i)
(viii) Differentiate between bactericidal and SIS LSy /9 » JXg )-g (viii)

bacteriostatic antibiotics.

( PART-II 5 o)

Note : Attempt any TWO questions. . ez Lty ne 3w
4 5. (a) Describe the two types of dialysis in detail. _é Ul ke Iq=IPY g,( A (L) 5
5 (b) What is meant by neuron? Describe its types. _éug(u"le ?‘L.JI/"..:(L—C)])}E ()

4 6. (a) Define joint and explain the types _é/yum; u:’t"/J(I)'fJJ;l:?_l,}ﬁ)f ?4‘:_,-1/[_._1/:_,1‘;2 () -6
of joints with the help of examples.

5 (b) State any five methods of natural -Zi:ugé_{./’é_t_adfﬁ ‘.f:g';{ﬁf;a,j (<)

vegetative propagation.
4 7. (a) Explain producers and consumers with examples. _g{;uiﬁﬂ.v L:UJ)/:)"CJ' ipdhy () 27

5 (b) Describe the basic steps in genetic engineering. J:éug‘_)’f/d:}{tﬁ j/"f!_@_‘? ()
215-019-11-(Essay Type)-57000



